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1.	Crow’s friend needs help with ...
a. A puzzle
b. His groceries
c. His homework
d. Getting dressed

2.	On the river, they saw a sampan with a 
great white ...
a. Bird
b. Dog
c. Sail
d. Shark

3.	The third puzzle was the puzzle of the ...
a. Hammer
b. Ocean
c. Triangle
d. Cat

4.	The last puzzle was the puzzle of the ...
a. Boot
b. Rectangle
c. Flamingo
d. Yellow House

5.	Is Trek a scarecrow or a snowman?

6.	Who are Trek’s three friends?

_____	 1.	Wagtail liked the idea of 
searching for some hidden 
shapes.

_____	 2.	Trek and the birds couldn’t find 
any squares.

_____	 3.	Panda wasn’t very happy with 
Trek and the birds.

_____	 4.	A lily leaf didn’t solve the second 
puzzle.

_____	 5.	Trek and the birds saw lots of 
triangles, including the famer’s 
hat.

_____	 6.	A temple roof solved the third 
puzzle.

QUESTIONS

TRUE OR FALSE?

Trek Learns 
About Shapes

Join Trek and his friends as they search for a square,  
a circle, a triangle, and a rectangle.

What did you learn?
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ANSWERS

TRUE OR FALSE? ANSWERS

1.	a. A puzzle. According to page 4, we know 
that “He has a puzzle to solve.” So, the correct 
answer is A.

2.	c. Sail. According to page 12, we know 
that “Then, floating on the river, they saw 
a sampan with a great white sail.” So, the 
correct answer is C.

3.	c. Triangle. According to page 20, we know 
that “It is the puzzle of the triangle shape.” So, 
the correct answer is C.

4.	b. Rectangle. According to page 26, we 
know that “Here is the puzzle of the rectangle 
shape.” So, the correct answer is B.

5.	Trek is a scarecrow.

6.	Trek’s three friends are Crow, Seagull, and 
Wagtail.

1.	True. According to page 6, we know that 
“Wagtail liked the idea of searching for some 
hidden shapes.” So, the correct answer is True.

2.	False. According to page 10, we know that 
“As they hurried to the river, Trek and the birds 
saw lots of squares.” So, the correct answer is 
False.

3.	False. According to page 14, we know that 
“Panda was very pleased.” So, the correct 
answer is False. 
 

4.	False. According to page 19, we know that 
“They had solved the second puzzle. The 
circle was a lily leaf.” So, the correct answer is 
False.

5.	True. According to page 22, we know that 
“They saw lots of triangles. They saw a hat 
on top of a farmer’s head, but there was no 
music.” So, the correct answer is True.

6.	True. According to page 25, we know that 
“They had solved the third puzzle. The triangle 
was a temple roof.” So, the correct answer is 
True.


